1. BRALAI B 8- 3

20204

B¢ =z 21K
% - IHEE 61 27 88
BE 58 10 68
= 164 77 241
N 167 93 260
T Hiek 24 6 30
fEE-HE 19 12 31
ez ek 40 24 64
MZEE 22 3 25
i 195 81 276
B EED 1 1 2
R & 37 41 78
L5 0 168 168
F=EEER - 56 56
F=AED - 36 36
ORHER - 25 25
AT 3L AR 99 - 99
fE Rt 44 15 59
B3 R BR 41 21 62
i e 4% 9 21 30
B AR AR 10 27 37
EMH)NE 48 45 93
ZRMEEHIE 12 7 19
=JiikS 25 24 49
fth oD M i 26 10 36
ZDth 39 23 62
=1 1,141 853 1,994
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2. BRI B EREIS

20204

B¢ =z 21K
% - IHEE 3.1% 1.4% 4.4%
BE 2.9% 0.5% 3.4%
== 8.2% 3.9% 12.1%
N 8.4% 4.7% 13.0%
T Ak 1.2% 0.3% 1.5%
fEE-HE 1.0% 0.6% 1.6%
ez ek 2.0% 1.2% 3.2%
MZEE 1.1% 0.2% 1.3%
i 9.8% 4.1% 13.8%
& EER 0.1% 0.1% 0.1%
R & 1.9% 2.1% 3.9%
L5 0.0% 8.4% 8.4%
F=EEER - 2.8% 2.8%
F=AED - 1.8% 1.8%
ORHER - 1.3% 1.3%
AT 3L AR 5.0% - 5.0%
fE Rt 2.2% 0.8% 3.0%
=PRI 2.1% 1.1% 3.1%
i e 4% 0.5% 1.1% 1.5%
B AR AR 0.5% 1.4% 1.9%
EMH)NE 2.4% 2.3% 4.7%
ZRMEEHIE 0.6% 0.4% 1.0%
=JiikS 1.3% 1.2% 2.5%
fth oD M i 1.3% 0.5% 1.8%
ZDfth 2.0% 1.2% 3.1%
=1 57.2% 42.8% 100.0%

T KBEHEBREEROEEH. R BREEEBESALH.




3. REABRKEE EWIZHAADBRDMoT=Fom(T)

THA, 3%, n=1994




4. XRZBRIEES (URTONRAKREBIZES=FiN)
n=1994

%031'&, 3%\ ;FEE' 0%




